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Chapter 06 Q554 E9]
6.1

(@) a=1, B=-2, y=3
P(x) =1—2cos(7x) + 3sin( 7x)

(b) P,(x) =-12x* +16x—1

(c)
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w4 (6.3b)ll y oy, Al f(x)H f(x)= WAt £ v
Al o A=

(% = X) F (%) + (X =%,) F (%)

R() =

X, — X,
A ol A B AMA A A A FRO (- x,) (k) B B
O s}al wj=t}
Pl(x)z(X1_X)f(Xo)+(X—Xo)f(XO)—(X—Xo)f(xo)+(x_xo)f(xl)

Xl_XO
wate] FES A g oo e B9 woh

P(x) = (%, = Xg) F(%0) + (X = Xo)[ (%) = f(Xp)]
X3 =X

X0 [ (x,) = f (%)]
XO

X -

P(X) = f () +——

1

X=X,

gele =20 o gjgsh e ge Asks A3t Ak

Xl 0

P = T (%) + L (%) = f(%)]

6.3
1.792-1.609

In5.8 = 1.609+( )(5.8—5) =1.7554

1
5)*(2)

A 24t |In5.8—-P,(5.8) <|(5.8—5)(5.8— 6)|‘ ‘ =0.0032



6.4

P,(5.8) =1.609x0.12+1.792x 0.96 +1.946 x (—0.08) = 1.7577
2

A 22k |In 5.8—P2(5.8)|S|(5.8—5)(5.8—6)(5.8—7)|‘ - ‘:0.000512
(5)°(6)
6.5
| PE_5.m [+ |
K % Problem 6.5
2 - % = [5,6,7]:
d- v = [1.609,1,792,1.946] ;
4 — al = [-0.0145,0.3425,0.254] ;
5 - 21 = 6:0,01:7:
B|= vl = logix);
= f1 = polyvalfal,x1);
8- plotis,wl, " 27);
g — hold ons
10 - ploti=1,f17;
1 - plot{x, v, 0" );
12 - wlabel( '« );
13 - viabel( v );
14 — axis([4.9 7.1 1,6 2.00);
15 - legend( " w=In(x)", "w=P2(x)", location', 'se');
16 — grid on:
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6.6

Pg(x)=—%(x—l)(x—zxx—s)—%x(x—l)(x—S)=—(x—1)2(x—3>
DEONEISE
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6.7

HEJ_ P{ij‘ _lara-0)ara-nasa-2)as4-3) v, =17
4 4 4 2048
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6.8

f[10.25,0,0.5] = —0.088
P,(x) = -0.088x*> —0.534 x* +1.003x +1

6.9
=1, fr =
X X

0<In(x) —P,(x) = (x—x,)(X, — X{%}

m:%+1:708.2z709

6.10

FO(x)= 2.
X

m=%+1=101.8z102

6.11

(@ I(X)z{4x1i3, fj:;l

(b) q(x) =2x*-2x+1, 0<x<2
X3 —x+1, 0<x<1

(c) s(x) ={

—x3+6x2—7x+3, 1<x<2
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6.13
—-2Xx+5, 1 2
Xx-1, 3
1(x) =
() X-1, 3
—X+7, <x<5

- (2—X)3'0+(X—1)3'(129/13)+(2—x)-3+(x-1)-1

6
1 129 A
—Z[2-X)-0+(x-1)-(129/13)] = —x* - —— x>+ —x+5
6[( ) (x=1)-( )] 2% 2% 2%

s(x)



(2) 73+ 2<x<3

S = (3—x)%- (129 /13) + (x— 2)® - (~24/13) By 1 (x-2)-2

6
—%[(3—x) .(129/13) + (x—2) - (-24/13)] = — 2 x? 4+ 35 2 1180 1054

26 26 26 26

(3) 7%k 3<x<4

$04) = (4-x)° -(—24/13);(x—3)3 B 4 24 (033

_%[(4—X)'(—24/13)+(X—3).(_33/13)]:;_63)(3+ 3 W2 116 242

2% 2%6 26

(4) T+3F 4<x<5

(5-x)*-(-33/13) +(x—4)*-0
6

—%[(5—x)-(—33/13)+(x—4)-0] _

s(x) =

+(5-%x)-3+(x-4)-2

11 , 165 , 788 1138
=XT ==X+ X—
26 26 26 26
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